3 (Sem-2) PHLM 1

2017
PHILOSOPHY
( Major ‘)‘~
Paper : 21
( Logic—1I )

Full Marks : 80

~ Time: 3 hours

The ﬁgures in the margin indicate full marks

Jor the questions

Answer either in English or in Assamese

1. Answer the following questions as directed :

(a)

(b)
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1x10=10

L]

State one advantage of using shorter
truth table method.

B T SIS AT Bl SR S 3=

Can formal proof of validity be used
in testing the vahd1ty or invalidity of
arguments?

R (Yl N I S WF S
*Rr1 IR M TR R [T T ?

( Turin. Qver )

e



(2)

() How many rules are there in the ‘rules of
inference’?

Wﬁﬁm’ﬂ{aw%ﬁmﬁﬁw

(d) The rule of disjunctive syllogism is a rule
of inference/a rule of replacement.
( Choose the correct answer )

Resree TR 31 Raee TR @ SEEe 4/
Rew afemrema [ |
' ( o7 Tohr A e )

(e) Whatis the ‘fallacy of exclusive premises’?
‘QFIEE SR IoA&e G’ 2

() Define the third figure of the syllogism.
TR PO TR Agen B

() How many valid moods are there in all
the four figures of the syllogism?

TR BIREET TREAS JoTS (FLH! 34 S W ?

(h) “A singular proposition is a substitution
instance of a propositional function.”
( State True or False )

“qBl qFF o A WANE TR 9Bl 3
I %ﬂﬁﬂ l”
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(3)

(i) Does propositional function has truth
value? et

WWWWW?

() How many circles are . td be drawn
to represent a traditional proposition _
through Venn dlagram?

& oIy TR *Roe 9 9Bl wfke FRIE

2. Answer the following questions in brief :
’ ' 2x5=10
OO PR B T g

(@) What is decision procedure? Is indirect
truth table method a decision procedure?

ﬁmaﬁmﬁs?mmwﬁa AGS
"*ﬁWﬂﬁm%?

(p) What is Modus Tollens (MT)? State its
symbolic form.

o6 Bt (Modus Tollens) ﬁ') E3I0]
ﬂ@?ﬁmﬁﬂWWl

() State the defiritiofi of syllog:sm as given
by Aristotle.

aﬁi%ﬁmmeW|
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(4)

(d) State the rules of quantifiers.

AR e &, Sy

(e) Symbolize an  universal negative
proposition with quantifier.
AR Sige 961 RF 7@l o7 LIS
NS AP T |

3. Give short answers for the folldwing questions
(any foun : 5x4=20

T P Y Bed Bl (R e i)

(a) What is the meaning of the Latin phrase
‘Reductio ad absurdum’? State why
shorter truth table method is called the
method of ‘Reductio ad absurdum’. What
does the contradiction involved in a
shorter truth table method imply? 2+2+1=5

¢ IR ‘Reductio ad absurdum’3 gl
2 57 so; ot @S Ry wpmfes A
TS’ o1 @RI W 7 T TG O orafos el
1 Rearey & o, o

(p) What is instantiation? Describe how to
symbolize a singular proposition. 2+3=5
BE TN I @ATA? B I I
@R AT oS oI IRY AR, 00
901
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(5)

(c) State the differences ietween propositional
- logic and predicate logic. : 5
3 NLFPIR e 341 |

(d) ‘.‘Forrfla.l proof of val’i‘dit'j cannot proof the
~ invalidity of an argumeént.” Explain the
statement with the help of an example. §
“IRE QRO oy @ PR WK o
PRI AR N b1 Sz TS RIRET <y
(e) Writea nogé Onuuhtyof predicate logic
Rearas SEREA Socaiirer o oty o
fora | AR o
() Describe the structure of standar
of categorical syllogism with g si.:'orm
© xample. , Al a suitable

e ST S 9B SR S
IR AR N RN > ﬁqzw

. What is indirect truth table method? Why i 3
called ‘indirect’ truth table method? E yis.lt
the procedure of constructing an in’g)iram
truth table With an example. . gepos_
E Tl SRR TR T AL Y ooy
T T R S R o mo oy
TR CTCS RAE o) OPR TR y-erfaegy
IO | §
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Syinbolize the following érg_'uments and
construct shorter truth table to determine

(6)

Or / 7.

their validity or invalidity :

SAS

o IR AP A 2T T WEF 5

o SR e IR Y EFVR

Refg 11 :

(@)

If Rubi is at least 18 years of age, then
Rubi can vote in the election:

Rubi is at least 18 years of age.

-. Rubi can vote in the election.

2+ T TSR Sv I T, SR TN

(b)

e cofor R MRk |

FA I TFS dbr IF | :

Radha can think if and only if, she is
conscious. .

" Radha is conscious.

~. Radha can think.

i fa wRe o T o R (08 OO

qCT |
YR GO IR |
. g fom T+ ¥ |

5. Explain the strategies for constructing formal
proof of validity with suitable ‘example.

T TR OIS AR (el 2T IR
SusiE ol
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(7)

Or / =&

Construct fhe formal proof of validity for the
following arguments :

o TRETR SRR L3l I A5 3y
(i) x>(y>2 o
xXD(A>DB)

. x-(yvAa)

~z /. B

-J(K-L)

. (K-J)>[MvV(NvO)]
.~M-(~P-~0)/~ N

5+s=10

(%)

wwo-'.:bcogog—-

6. What is a categorical sylldgisrp? Explain the
chief features of categorical syllogism ° 4+6=10
fReers i w9 @Kﬁ'?ﬁvwmm
A4 PR I F41 |

Or/ 7| -

Test the following syllogistic arguments with
the help of Venn diagram : 5+5=10
& foqm a@ oore il AW FHAREBR 3y

(@) All Russians are revolutionists.
All Marxists are revolutionists.
. All Marxists are Russians. -
e A Rl |
SpceT Wi R
. e i A |

.
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